Enrollment NO.vuvviecieviniinns

Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, December-2021
INDUSTRIAL ELECTRONICS [ECD503]
Time: 3:00 Hrs Max Marks 70

Note: Student should not write anything on question paper.
Question No. 1is compulsory. Attempt any five question from Q.2 to Q.8

qe . faerefl yemva w gp fad 7E | vom uw gd a3 afard @
U F.2 9 H.8 qF &g UG T Sk a1 JFEd 2|

Q.1 Multiple choice Question / axgfs e —

0] A diac has how many terminal-

e srd A faa effFa g 8-

(2)2 (b)3 (©)4 (d)5
(i) A diac has how many semiconductor layers-

F ead A fioel arfares o @il @ -

(a3 (b) 4 ()2 (d5
(iii) AnSCRisa_ triggered device-

TIRAAR TP v SR ISAEH &'

(a) Cymrent / #ie (b) Power/ =ifdm

(¢) Voltage/ areewt (d) Noise / 9IR

(iv) An SCR when turned on has a typical voltage across of-

(a) Zero OLARY (c) @1v
v) How many Pn-junction does SCR s have -

wadieR # fham Pn SigwH B 8-

(a)2 (b) 4 (©)3 (d)5
Q.2 (a) Explain the working of series inverter with circuit diagram,

|fbe AN $ A YEH] §TIER b BTG B FTET BN |

(b) Write down the speed torque characteristics of DC motor.
RN AR 91 At < fawar o fafag |

Q3 (a) What is chopper? Explain in brief.
=R T 27 ¥ § gHEE |
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QA4

Q.5

Q6

Q.7

Q.8

(b) Draw and describe V-I characteristics of SCR.
R @ V-1 fRRwan g1 a6

(a) Write down the V-I characteristics of UJT.
el & Aot faAwar forsd )

(b) What is power diode? Explain in brief.
T SIS 87 WAm A wpmEgsl |

(a) What is electronic ignition? Explain.
=agie s & amen w3

(b) Explain TRIAC. Also draw its V-I characteristic.
Siad o) Fren | sEe V-1 fQdvar ford |

(a) Write down the difference between working of AC and DC drive.
RAFT SIRE & TRl HHedei] GHRR B BIHBIA FT A T |

(b) Explain DIAC. Explain its working and draw V-I characteristic.
ST BT ARG BINY | §9D BHAGN &1 AR BY AR V-1 fiwang sasy |

(a) How can you protect SCR against over current?
Y STET TR TR & XeT 4 R bl 87

(b) Write the merits and demerits of controlled rectifier.
a3 guRe @) A ok  ford |

(a) Write down the voltage communication process with help of neat sketch.
W | @) AGE W dledol @an uihar o [

(b) Explain resitance welding? Explain with neat diagram of AC resistance
welding.

afeRY AT &1 sarer B | Tl gfeRly AfeeT & AT AmRg @ T HEal |
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Enrollment NO...ccoove e veravenrs
Diploma in Engincering (Polytechnic)
Fifth Semester Examination, Dec-2021
Antenna And Microwave Engineering [ECD504)
Branch-ETC

Time: 3:00 Hrs Max Marks 70

Note :

Student should not write anything on question paper.

Question No. 1 is compulsory. Attempt any five question from Q.2 to Q.8

e :

Q.1
@)

(i)

(iii)

(iv)

)

faemedl werra R @w ford 78 | wom ww g wen afEnt 2
U ®.2 @ ®. 8 d% fb-e] qid &1 Jeax = afrard 2

Multiple choice Question / a&jfis uw= (2x5-10)

The basic Requirements of transmitting antennas are-
TS giafie He @ Aol Aaeasary 8-

(a) High efficiency / 3= zaran

(b) Low side lobes / &7 uet &9

(c) Large signal to noise ratio /a1 et ofR @R &1 aquid
(d) None of the mentioned / ®1g =&

is a deviee that convert electrons to photons or vice-versa-

US IUBNY & G SeiaeT=l B W a1 @ e § afigfda e 2

(a) Antenna / ¢S T (b) Elcctron gun / g1 14

(¢) Photon amplifier / ®ic TraefiwrRR (d) Microwave tube/ "g®idg <@

The number of patterns radiation required to spcily the characteristic are
f¥reran fAfde F o fog anawrs de fafeeor 6 W €

(a) Three /A (b) Four/ ar

(¢) Two/3) (d) Five / dfm

The heam width of the antenna pattern measured at half power points is called-
o fasref figalt ox 7y QAT ded ot fawer Aterd @) wer omen 2

(a) Half power beam width / amenm urax 69 =isE

(b) Full null beam width/ Tof 71 fawor derg

(¢) Beam width/d™ @1 diers

(d) None of the mentioned/ IcaiRad &% ==

An antenna has a field pattern of E (8) = cos2 8, 8 varies between 0° and 90°.Half
power beam width of the antenna is;

= H E (0) = cos2 031 Bies Ye dar s 0, 0° 3R 90° B fra B g

TEAT @) Amft graR i @ieE @ gl oY —

(a) 33°

(b) 66 °

(c) 1200°

(d) None of the antenna is / IcaiRaa @18 781 [Page 1]




Q.3

Q.4

Q.5

0.6

Q.7

Q.8

(a) Explain ropospheric scatter propagation,

SRR e WIR @ e B |

(1) Deseribe ground wave propagation what is angle of til1.
ol G WA w1 o A ) gwm e g )

() List out condition Tor distortion less transmission line.
fareyor @n dewor arga @ fom fRafy o) ) s

(b) Explain incident wave, standing wave and SWR.
rfele oee, W e oY O S G|

(a) Draw 3 dimensional field pattern of TE10 mode in rectangular wave guide.
STAIER SR arEs A TR0 e & 3 sprf d9 9w o g1 @il

(b) Draw and explain hybrid T junction in wave guide.

e gs 7 wEfas &) s @ @ Ff A wEEn |

() Explain frequency pushing and pulling in magnetron.
angfey qie 3V was geinr @) s @)
(b) Draw and explain reflex klystron with its application,

Rpeiad A= @ @1 wem ey ? o g6 e 9o |

(a) Distinguish between beam width and bandwidth of antenna,

gl @l A e o defasy & S o)

(b) Draw the structure of a helical antenna state its different mode of operation and
list various application,

QE}‘E-"H’IFEH TERT W WA A | ARy ® A s afd qam o e amage @
et |

(a) Explain actual height and effective height of antenna,

1R G a2 e R B (R 8 i i - e e pe

(b) Draw physical structural of log periodic antenna and explain it with application.
dfit aafin W@ @ difte Weesem g o 3 @ ol oA Wt wmer e |

() Explain antenna polarization.
AT Al aHEET |
(b) Explain physical structure and application of parabolic reflector antenna.

Wifts \vaeT aftv et s ofir & amres @) e @
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Enrollment NO o cciciciniiiiiinns

Diploma in Engineering (Polytechnic)
Fifth Scmester Main Examination, December-2021
Instrumentation and Control [ECDS501]

Branch-ETC

Time: 3:00 Hrs Max Marks 70
Note: Student should not write anything on question paper.

Question No. 1 is compulsory. Attempt any five question from Q.2 to Q.8
Me - fyenell ywma w 1w faw 7@

Yo YET & SR AFar | e $.2 @ B8 9% e uid B 9w 21 afrad 21
Q.1 Multiple choice Question / a&f¥s uza [2x5=10]
) For underdempeel system value of damping ratio is —

SIS YUTAT | a@e< AFgUTd $T A1 Bkl & —

(a) less than one/ (& & @A (b) More than one/ & 3 Afs

(c)one/ & (d) zero/ T
(i) LED's do not require-

LED,s ®! amasgdar el ardl —

(a) Heating/ &ifen

(b) Warm up time/ a™ arq w73

(¢) Both (a) and (b)/ (a) 3R (b) At

(d) None of the above / 379 A &g &
(iii) D.C signal conditioning is generally used for

S R ST 3 [uET § ax 2

(a) Active transducer / Tadla grsqER 89 (b) Passive transducer/ 9@ gRISgwR 2g

(¢) Digital transducer / fefiea grasgax & (d) Invrse transducer/ 39ad gTASTER 2g
(iv) The damping factor of a system is unity the system is -

g e &1 1 waew 3FE 3 O e @ -

(a) Over Damped / 3aR TH< (b)Critically damped / fifeaat smus

(¢) Under damped / <R s9s (d) Unstable/ ar<ad
(v) LVDT is used in-

LVDT &1 Suart fear o & —

(a) Sccondary transducers/ fgdfias gegaR f& ave

(b) Primary transducers/ i gReger f& @xE

(¢) primary signal transducers/ urrfis Riva gRegar f& @8
(d) None of these/ 578 & &3 T8
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Q2

Q3

Q4

Qs

Q.6

Q.7

Q38

(a) Explain data acqmsmon system with block diagram.

Srer vHIeie fRIes & <ife S IR qHangd |

(b) Draw the neat block diagram of AC signal conditioning and explain each block in
brief.

il Ryt SS9HT @1 <ife STum IeR e wife B gaT ¥ aegd |

(a) Explain any one type of R I telemetry system.
50 U6 TR & AR U 2eried) fwen @ g |
(b) Classify the types of transducer.

TSGR Bl TIflHd B |

(a) Explain the working of X-Y recorder.
X-Y R&1Ey @ Friuvnel 3 wawngd |

(b) Explain the working of LED diode.
TAgS] B GRS B THET |

(a) What is meant by [requency response of the control system? Explain,
FoleT Riven & Mol Regia @ a1 e | TR |
(b) How Nyquist criterion can be applied to determine the stability of closed loop

control system.
el U Belel Red a1 ReRel w1 =3 & ford Tigaave HreRar 3 ugws g 2

(a) Differentiate between positive and negative feed back control system.
qreifed 08 AN WisdT dold Med ¥ afdR Fasy |
(b) Explain rise time and peak time second order control system.

JAbs AN FIA fer & oty e <rgw o Ui TrgH @) s |

(a) What are the bode plot? What for they mean.

TS W W §) A |e B aHd |

(b) Differentiate between type ‘0° and type ¢1° control system.
T13Y 0 Ud TRY 1 Fgrd e # o W B |

(a) What are the thermistors? Explain their dilTerent form of constructions.
iR T 2| A WEAr & A i wummgd |

(b) Write short note on -

Jftra e fafay —

(i) Root locus concept / e drewt Raeera

(ii) Nixie tube/ Frrfl <gg
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Diploma in Engineering (Polytechnic)
Fifth Semester Main Examination, December-2021
Data Communication and Networks [ECD502]
Branch-ETC

Time: 3:00 Hrs Max Marks 70

Note :

e

Q.1
0

(ii)

(iii)

(iv)

™

Student should not write anything on question paper.
Question No. 1 is compulsory. Attempt any five question from Q.2 to Q.8

fremeff gvaa R 7o fad @ | g uw v wem afvard 2y 52 @ was
% el wig F1 Iww I Afrard 2

Multiple choice Question / afs Te=

What is the minimum number of wires needed to send data over it serial
communication link layer-

HRIENRE HoR fofd W ) 3T o & oy amgead art & ~gAan e ®r &
(@1 (b)2

©3 (d)4

Which data communication method is used to send data over a serial
communication link-

el 321 AR Ry &1 Syan uRiaiRe WaR e i) el A9 & oy fear o @ -
(a) Simplex / Riiaw (b) Half duplex / 8% gwias

(c) Full duplex / gwia (d) All above / SuwRiaa @it

Which of the following is an examples of a bounded medium-

frfaiaa # | 19 A1 76 & gy A 6 IR -

(a) Co-axial cable dIvfadara Haa (b) Equal resistance ¥Ar gfoRier

(c) The same diameter &A= &md (d) None of these I@Riad 7 I ®1E =&
Coaxial cable has conductor with-

wAEf T B F ey B B—

(a) A comman axis V& |H[ g3 (b) Equal resistance & ufeRe

(c) The same Diamater \AW & (d) None of these ST 7 | #1E 7t

The area of coverage of a satellite radio beam is called its-

JAcarse MM W & v &1 &7 {59 F' S 8-
(a) beam width / ¥m fasr (b) Circular polarization / Ma@R gaaHRor
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Q2

Q3

Q.4

Q.5

Q.6

Q.7

Q3

(¢) Footprint / ugfu= (d) Identity / u=am
(a) What is analog & Digital communicaton.

TN AR fEofled HRgfrdee an aver 2

(b) What do you understand by ASCII code.

HARB] BIS A AT FT TR 2|

(a) Explain different type of error detection techniques.
fafi=r yer @ Wt fedmm Rl &1 e e arEmd |
(b) What is Modem. Write down it characlersties. Explain in detail.
ATeH A B & | gerall Mg & e e § weee |

(a) Discuss the universal synchronous recvers transmitter (USART).
fate Risa feflay glienier @) wwsmzg )

(b) What is LAN, MAN and WAN? Write down merits and demerits.
LAN, MAN 3k WAN a1 B 8 3R 7D o7 3R ST Jefrsy |

Define OSI model. Explain session layer transport layer and n/w layer-

3MwHTg Hisd B IRANT X, VRF o’R, TRIAE R Td Yead oRR &) Gz |

(a) Explain Hubs with classification. Differentiate active hub and passive hub.,
B9 91 BT ¢ | Ufded ok afim & ¥ sier v @i |

(b) What are TCP. Protocall .

S MeiaTe @ )

(a) Describe IEEE standard 802.3 or Etharnet in detail
IEEE 9#€€ 802.331 gefde &1 fawar & gwemey

(b) Diffrenitiate among bridge, router and gateway.
§91, ISR Tq ed # AR W el

Write short note on (any three)
wftre e fafag (@3 =)

(a) RS-232. 3R Vs — 232

(b) Network protocall / #ca® feiwre
(¢) Linux/am1ad

(d) LRC / va.amR =
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